E3-1075

PDFIZ21FE6 A DANA TY o BEEREWEBE ToRECES) (HEETNBE - BB R 12T 1<8H)

SPACE COLLARS FOR BEARING -FOR INNER-OU

TER RACE-

AFUVIRAAN—Y

—AERA - SRR —

N N
B orrantsonag| DWR | BEmar @R oo dfRo | meR | DEmas
CLBU CLBP S0R7V3EE — CLBS CLBT S0ETIIES -
" CLBUB CLBPB " =] CLBSB CLBTB g m= i =
PR [ Clsum [cLepm | RHERS m_;giﬁfﬁﬁ MM [Clpsw [cierm | AHERE ﬂ@-?ﬁ&%{/%ﬂ%
CLBUS | CLBPS SUS304 — CLBSS CLBTS SUS304 —
EHA&8A (17285 s W& (PAFRAE) ()
7777777777 25] 2|5 f\ s /f | KN
******** — ]
L8 ke > L, ke
(FozpE) 05 (F52B%)
7777777777 EREIaD\ ws /| ] =2 KN
tgle a &J | Bl KJ
— (|
m B L*g! & *L=3Ki# C0.2UT > L*3! s
BX L ¥EAE B
® | Ds| #iX7Y»% | CLBU-CLBP | CLBUB - CLBPB [CLBUM - CLBPM | CLBUS - CLBPS
Type | d i L1.0~25.0]25.1~500]30.1~1000] L1.0~25.0]25.1~50.050.1~1000|L1.0~25.0]25.1~50.0[50.1~1000|L1.0~25.0]26.1~50.0] 501~1000
3|5 4 [ 6% 630 310 370 — | 370| 420] — | 390] 450 — | 390| 510] —
4 |7 6 |5 6UL -6uLl 370 410 — | 420| 460 — | 450] 500| — | 460| 550 —
5| 8 7 |omeoen o5m c6%m | 410 | 450 | — | 460 500 — | 460| 500 — | 500] 600 —
6 | 9 |1.0~50.0]| 8 [smn 6%z 66z 6% | 450 | 480 — | 500 540 — | 500| 530 — | 540| 650 —
g |10 9 |z — | = | — | 550] 590 — [ s500] 850 — | — | — | —
11 10 |66 o8 oz -ow | 480 520 — | 490 520 — | 530] 580 — | 580| 680 —
12 11 [z — | — | — | 550] 590 — [ s500] 850 — | — | — | —
10 1134 000,012 [0 520 550 930| 510| 550 | 890| 550| 600)1,010| 630 750 1,270
1a | 113 ooz - goonz 530 590 980| 550 | 590 1,000 500| 550 930| 570 | 690 1,170
17 [2.0~100.0] 16 |50 <6302 570 | 630 1,060 | 580 | 630]1,070 | 530 | 580]1,000| 610 730 1,240
15 [, 0~ 100.0 | 14 |02 612 570 | 630]1,060| 580| 630 1,070 520| 560 980 610 730 1,240
12 [16 | 115 [z 6wz 570 | 630 1,060 | 580 | 630]1,070 | 530| 580]1,000| 610 730 1,240
18 17 |60iIL 601 590 | 660 1,700 590| 650 1,090 | 550| 600]1,010| 630 750 1,270
EER 17 |60 - 68021 590 | 660 | 1,100 | 590 | 650]1,090 | 550 | 600]1,010| 630 750 1,270
45 |19 18 [6A00IL - 600z 590 | 660 1,700 590| 650 1,090 | 550| 600]1,010| 630 750 1,270
| 21| 20 |omz 600 6701170 590| 670 1,150 570| 630 1,100 650 | 820 | 1,400
23 22 |ower — | = | — | 670] 740[1,270] 650 720]1,230] — | — | —
| 20 | 19 |6z 610 700[1,220| 590| 670 1,150 | 570| 630 1,100 650 | 820 1,400
R A | 22| 21 [BA08T2 - 6032 610 | 700 1,220 590 | 670]1,150 | 570| 640]1,100| 650 820 1,400
(z1F22%8)| 17 24 | 23 |imz 660 | 730]1,280| 610| 720[1,190| 580| 660 1,130 700 | 860 | 1,480
CLBU 26 25 |Gz — | = | — | 670] 740[1270] 650 720|1230] — | — | —
CLBUB | 23 | 22 [z 610 730[1,240| 590| 670 1,150 | 580| 670 1,130 660 | 860 | 1,430
CLBUM | 20 [ 22 24 |6 630 | 7301230 600| 710]1,180| 580 | 680 1,140 660 860 | 1,430
| 27 |2.0~100.0] 26 [swz -6z 650 | 7301,240| 670 740 1,270 | 650 7201230 740 | 900 | 1,530
CLBUS 29 28 | — | — | — [ 700] 780[1,350] 670 750 1,300 — | — | —
(F52AE) | 25 | 27 |se 650 | 730 1,240 680 | 750]1,300| 660 | 730]1,260| 760 940 1,610
| 29 | 28 [6warr 670 | 760]1,300| 700| 780 1,350 | 670| 7501,300| 760 | 940 1,610
CLBP | 55 [31] 30 [dsz 700 780[1,350 | 730| 810 1,390 | 700| 780 1,330 790 | 980 | 1,660
CLBPB | 33 | 32 [t 700 | 780[1,350 | 730| 8101,390| 700 | 7801,330| 790 | 980 1,660
CLBPM 36 35 |Gz — | = 1 — | 790] 890[1,450] 760 9901590 — | — | —
CLBPS | 33 | 32 |66z 720 | 830(1,400| 730| 840[1,410| 710| 790 1,360 | 810 1,040 [ 1,760
| 35 | 34 |66 720 | 301,400 740| 870[1,480| 720| 8301430 810 1,040 1,760
30 | 38| 37 [dsz 730 | 8701,440] 760| 900]1,490| 730| 860]1,440 | 830 1,080 | 1,790
40 39 [pmez 750 | 8801,490| 780| 970 1,660 | 750| 91015540 850 | 1,100 | 1,840
43 42 |66 — | = | — | 850[1,020[1,590] 940[1,120 1,750 — | — | —
| 38 | 37 |sz 820 960 1,560 | 790| 890 1,450 | 760| 99015590 | 970 [1,230 [ 1,950
| 42| 41 |om 870 [1,050 | 1,620 | 790 | 950 1,460 | 870 1,050 | 1,620 [ 1,030 | 1,300 | 2,010
35 | 44 | 43 sz -6 920 [ 1,100 [ 1,710 830| 980 1,540 | 910]1,080 | 1,700 | 1,090 | 1,360 | 2,110
46 45 [ — | — | — | 850[1,020[1,590] 940[1,120[1,750| — | — | —
48 47 |sm — | = | — | 890[1,060|1,660] 980[1,160 1,820 — | — | —
| 43 | 42 sz 930 1,110 1,740 | 840| 990 1,570 | 9301,090 | 1,720 | 1,120 | 1,400 | 2,220
46 | 0. 100.0| 45 1L 950 [1,120 | 1,790 | 850 | 1,020 | 1,590 | 940 | 1,120 | 1,750 | 1,120 | 1,400 | 2,220
40 | 49 |* | 48 |oez - 606z 1,010 [1,200 [ 1,890 | 890 [ 1,060 [ 1,660 | 980 | 1,160 | 1,820 | 1,200 | 1,480 | 2,350
52 51 |Gz — | = | — | 940[1,190 1,960 1,020 [1,300 [2130 — | — | —
54 53 |68 — | = | — [1070[1,380[2,240[ 1,180 1,520 [ 2,440 — | — | —
45 |58 52 |60 — | — | — | 990[1,280[2,080[ 1,090 1410|2260 — | — | —
55 54 |Gz — | = | = [1,100[1,420 [2,3310] 1,210 [1,570 | 2500 — | — | —
50 |26 ] 55 |l — | = | — [1120]1,440[ 2,350 1,230 1,600 [ 2540 — | — | —
60 59 [RillL — | — | — [1210]1,560]2,530[ 1,330 [ 1,730 [2,750 | — | — | —

@ L=3KBEDEX HENT U JIMERATEE L A,

PDFIZ21FE6 A R DHNB TY o BHEREWEBE TOREES (LT B E - B8R 147 12181)

A0
22 W

P
ATFVLAHOER
e

\ S TRUR
http://famisumi. p

@H&2OJ R RIZZES BEP137
(® CADF—#%74)V5 % : 14_Bearings_with_Holder

Ll YEEE
wpe | D 20 omegt| d | Dh | BA~NPYLY [ CLBS-CLBT | CLBSB - CLBTB | CLBSM - CLBTM | CLBSS - CLBTS
L1.0~25.0[25.1~500[50.1~100 [L1.0~25.0]25.1~50.0] 0.1 ~1000|L1.0~25.0 25.1~50.0]504~1000 | L1.0~25.0]25.1~B0.0[50~1000
| 6 | 4 | 5 |enn 360 420 — | 410] 490 — | 440] 510] — | 440] 580 —
7 5 | 6 | 61 370| 470 — | 420| 530 — | 450| 570 — | 460] 630 —
8 | 5 | 6 | 692 400 480 — | 450| 540 — | 480 580 — | 470 650] —
10 | 7 | 8 |6 410 490 — | 460| 570 — | 460| 550 — | 500| 660 —
11 |1.0~500[ 7 | 8 | 69z 420 520 — | 490| 580 — | 470| 580 — | 520| 680 —
13 | 9 | 10 | 6uz-6%n 470 550 — | 470| 560 — | 520 610] — | 520| 680 —
14 | 10 | 11 | 6072 480 590 — | 490| 590 — | 530| 650 — | 520| 690 —
[ 15 | 10 | 11 | 6% 520 630 — | 520| 630 — | 530| 650 — | 560| 730 —
16 1| 12 | 65z 530 640 — | 550| 650 — | 530| 650 — | 570] 750 —
117 | 5 o50.0 |12 13 | &6z 580 670 — | 560| 660 — | 530| 650 — | 610 790| —
slgmmEm [19 |~ 4 [ 15 | sz e 590 710 — | 570| 700 — | 550| 670 — | 630] 840| —
(v1F2) 19A] 16_| 17 | 680022 590 | 710 /1,090 | 580 | 710/1,070| 560 680| 980 | 630 840 1,300
cLes 21| 18 | 19 | 6801z 600| 730 |1,140| 590 | 720[1,110| 570| 690|1,040| 660 880 1,350
[22 | 17 | 18 | 608ZZ- 6900 630 | 750 | 1,150 | 600 | 730 /1,130 | 580 700|1,070| 660 880 1,350
CLBSB | 24 | 19 | 20 | 6287269012 660 | 780 |1,230| 640 | 760 /1,180 | 620 730|1,140| 700 920 1,430
CLBSM [24A] 21 | 22 |68022z 670 | 820 1,280 | 650 | 790|1,200| 640 760|1,170 | 740 980 | 1,500
CLBSS | 26 | 20 | 21 |00z 700 840 1,300 | 670 | 810|1,260 | 650 780|1,200| 740 980 1,500
[26A| 23 | 24 |83z 670 | 820 1,280 700| 830|1,280| 670 800|1,240| 740 980 1,500
(F522%)| 28 | 22 | 23 | 6001zz- 63022z 680 | 840 |1,320| 710 | 840|1,310| 680 820|1,270 | 780 1,020 | 1,580
CLBT [30| 24 | 25 |00z 720 840 1,350 | 740 | 880[1,390 | 720| 850|1,330| 810 1,060 | 1,660
CLBTB |22 25 | 26 | 620122 600222 760 | 900 | 1,410 780 | 930 1,450 | 750 900|1,400 | 850 1,120 | 1,740
[32A] 29 | 30 |6804zz 770 930 |1,440| 780 | 930[1,450| 760| 930|1,430| 870 1,150 | 1,780
CLBTM 35713 0~100.0[ 20 | 30 |62z 780 950 | 1,460 | 780| 930]1,450| 780| 950 1,460 | 890 1,180 1,820
CLBTS |37 | 31 | 32 |69z 830 | 1,000 | 1,560 | 780 | 930 1,450 | 830 |1,000|1,540 | 940 1,240 | 2,150
[37A] 34 | 35 | 680522 840 1,040 | 1,590 | 780 | 930 | 1,450 | 850 1,030 | 1,580 | 980 | 1,300 | 2,010
42 | 34 | 35 | 600422+ 630512 870 | 1,050 | 1,620 | 790 | 950 | 1,460 | 860 | 1,050 | 1,610 | 980 1,300 | 2,010
[42A| 39 | 40 | 680622 880 | 1,090 | 1,660 | 810 | 980 1,500 | 890 | 1,090 | 1,670 | 1,090 | 1,360 | 2,110
|47 | 39 | 40 |620472- 600572+ 69062Z] 920 | 1,100 | 1,710 | 830 | 1,000 | 1,540 | 910 | 1,100 | 1,700 | 1,090 | 1,360 | 2,110
[47A] 44 | 45 |0tz 950 | 1,130 | 1,740 | 850 1,030 | 1,590 | 940 | 1,130 | 1,760 | 1,120 | 1,400 | 2,170
[ 52 | 45 | 46 | 620512 960 | 1,150 | 1,790 | 880 | 1,040 | 1,620 | 960 | 1,150 | 1,790 | 1,140 | 1,420 | 2,220
[52A| 49 | 50 | 68082z 1,000 | 1,180 [ 1,850 | 920 1,140 1,880 | 980 | 1,270 | 2,050 | 1,200 | 1,500 | 2,350
| 55 | 46 | 47 | 600622 1,010 [ 1,220 [ 1,890 | 940 | 1,190 | 1,960 | 1,020 | 1,300 | 2,130 | 1,200 | 1,500 | 2,350
[ 62 | 55 | 56 | 620622+ 600722+ 69087Z] 1,060 | 1,280 | 2,000 | 990 | 1,280 | 2,080 | 1,090 | 1,410 | 2,260 | 1,260 | 1,590 | 2,450
70 63 | 64 | 620722 1,320 | 1,590 | 2,450 | 1,140 | 1,460 | 2,350 | 1,240 | 1,590 | 2,530 | 1,550 | 1,950 | 3,020
Yorder | B |- D |-[ L | price  MEEZT AR (O1ABYIET) P133
EX# CcLBU0 — 17 — 335 ¥ i wERsS ,,\fi'g”m = ‘Eiﬂf;‘“"
CLBS19 — 254 B 2 1~9 | 10~19 | 20~29 | 30~99 | 100~200 | 201~
4 SF—CLBSS35 — 800 EEIE | FEEM| 10% | 20% | 25% 8% | gy
BifEsse Y —EX BEPR130 HAEE BE +56
OFTHEBHAIIWOSICTIFER A,
_E Delivery 2 EIEEYG]
Iuma [_‘—}
=5 ARE[ZOWT [00BAFET PM 3:00i2 = P134
=2 A |ZBEE [0BAK PV 6:003E T
@®RN—TARE 31 BRHATT 4 721 — 12200
®ZN—TAIL3ME L _E T1 BB T 4724 — #5401
~| B =
{é‘ﬁ'é' +5 Bgﬁﬁmwzoo}
@ZAR—7 33 AT
Alterationg _El__ (LKC - UKC)
wll BT CLBU10 — 17 —26.3— LKC
CLBS19 — 25.4— LKC
Alterations Code Spec. ¥/1Code
2RAZEEE
[ R (w'}Kx%% 0 0
I | L—0.1 —0.02 i
UKG SREAZTTE
s (F5RAE) I T

=]

QNEND,
RS AN D)

E-1076



